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Iflog 2 = 0.3010,/0g 3 = 0.4771,/og5 = 0.6989, /og 7 = 0.8451,
the characteristic of /og 2434 =

(i) 7 (ii) 10 (i) 11 (iv) 9 (v) 8

Iflog 2 = 0.3010,/og 3 = 0.4771,/og 5 = 0.6989, /log 7 = 0.8451,
the characteristic of /log 72031 =

(i) 85 (ii) 87 (iii) 89 (iv) 91 (v) 88

If log 2 = 0.3010, Jog 3 = 0.4771, /og 5 = 0.6989, Jog 7 = 0.8451,

3 the mantissa of /og 28079 =

(i) 0.313 (ii) 8.313 (iii) 1.313 (iv) 2.313 (v) 7.313

If log 2 = 0.3010,/og 3 = 0.4771,/og 5 = 0.6989, log 7 = 0.8451,
4,
the value of/og57668 is

(i) 185.6936 (ii) 186.6936 (iii)) 187.6936 (iv) 188.6936 (v) 189.6936

If log 2 = 0.3010,/og 3 = 0.4771,/og 5 = 0.6989, log 7 = 0.8451,
the number of digits in the expanded form 01‘144032 is

(i) 100 (ii) 103 (iii) 101 (iv) 102 (v) 104

Iflog 2 = 0.3010, Jog 3 = 0.4771, /og 5 = 0.6989, Jog 7 = 0.8451,

the value of log 57632 is
70027

(i) 0.1499 (ii) 2.1499 (iii) 1.1499 (iv) 9.1499 (v) 3.1499

If log 2 = 0.3010,/og 3 = 0.4771,/og 5 = 0.6989, log 7 = 0.8451,
the value of/0g10.006.4800is

(i) 1.811 (ii) 8.811 (iii) 7.811 (iv) 0.811 (v) 2.811

If log 2 = 0.3010, Jog 3 = 0.4771, Jog 5 = 0.6989, /og 7 = 0.8451,

784
the value of/oglo 7_68 is

(i) 8.0091 (ii) 0.0091 (iii) 2.0091 (iv) 7.0091 (v) 1.0091

Iflog2 = 0.3010,/09g 3 = 0.4771,/0og5 = 0.6989, /log 7 = 0.8451,
9.

the value of log 76892 is

(i) 264.4292 (ii) 263.4292 (iii) 267.4292 (iv) 266.4292 (v) 265.4292
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Iflog 2 = 0.3010,/0og 3 = 0.4771,/0og 5 = 0.6989, /log 7 = 0.8451,
the number of digits in the expanded form 01576808 is

(i) 31 (ii) 32 (iii) 35 (iv) 33 (v) 30

36 _
log 157 =

7

(i) 1.4 (i) 0.4 (iii) 4.4 (iv) 3.4 (v) 2.4

If log 2 = 0.3010, Jog 3 = 0.4771, /og 5 = 0.6989, Jog 7 = 0.8451,

the value of /og 10811 is
43246

(i) 1.1845 (ii) 2.1845 (iii) 8.1845 (iv) 7.1845 (v) 0.1845

Iflog 2 = 0.3010,/og 3 = 0.4771,/og 5 = 0.6989, log 7 = 0.8451,
the value of/oglo 001.6200is

(i) 2.209 (ii) 8.209 (iii) 1.209 (iv) 7.209 (v) 0.209

If log 2 = 0.3010, Jog 3 = 0.4771,/og 5 = 0.6989, Jog 7 = 0.8451,
1440

the value of/og10 340 is

(i) 1.234 (ii) 8.234 (iii) 2.234 (iv) 0.234 (v) 7.234

If log 2 = 0.3010,/0og 3 = 0.4771,/og 5 = 0.6989, /og 7 = 0.8451,
the value of/og2434is

(i) 8.542 (ii) 9.542 (iii) 11.542 (iv) 7.542 (v) 10.542

Iflog 2 = 0.3010,/og 3 = 0.4771,/log 5 = 0.6989, log 7 = 0.8451,
the number of digits in the expanded form of308737 is

(i) 129 (ii) 127 (iii) 132 (iv) 131 (v) 130

45
log 207" =
2015

(i) 2 (i) 5 (i) 1 (iv) 4 (v) 3

If log 2 = 0.3010, log 3 = 0.4771, /og 5 = 0.6989, Jog 7 = 0.8451,

the value of log  336%2is
27011

(i) 3.9674 (ii) 4.9674 (iii) 1.9674 (iv) 5.9674 (v) 2.9674

If log 2 = 0.3010,/0og 3 = 0.4771,/og 5 = 0.6989, log 7 = 0.8451,
the value of/og10'002.5920is

(i) 7.413 (ii) 0.413 (iii) 2.413 (iv) 8.413 (v) 1.413



If log 2 = 0.3010, log 3 = 0.4771, /og 5 = 0.6989, Jog 7 = 0.8451,
1296

0.
the value of /o - is
910 864

(i) 8.1761 (ii) 0.1761 (iii) 1.1761 (iv) 7.1761 (v) 2.1761
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